7T /Mathematics W‘ﬂ e a /Second Year SET-D

99 9 §&A1 / Que. Paper No.:  VII/19-20/Mathematics/

YitS™ &R ¥ ST®T / To be filled in by Pratishthan

31l 1 {90t / Details of Marks
frwa / i / e / e 3 SRR
Subject Max. Marks | Marks obtained Sign. of examiner
7T / Mathematics 100
T faweq & @A (v') 1 g TR - 5x1=5
Marks (v') the correct answer in each of the following -
51, RSt ST o e e & -
Sum of three angles of a triangle is -
i  90° (i) 180°
(i) 360° (iv) 540°
92, I ) HEd TSl Sl Fl FEA & -
Longest chord of a circle is -
(i) Fr==1/Radius (i1) TR/ tangent
(iii) €/ Diameter (iv) %18 &l /None of these
9.3, RIS RS o ) et AN a3 E -
Sum of any two sides‘of a‘triangle is ........ than its third side -
(i) ®H/Less (i) SIqr/Greater
(iii) ¥AME/Equal (iv) F1 181 /None of these
T4, TS Ok TR B W & GO @IS R HEdl & Al Thicl 3id: RO H G5F oA -
If a transversal cuts two parallel lines then each pair of alternate interior angle are -
(i) W& &/Equal (ii) STEHH &d &/ Unequal
(iii) T 180°/Sum 180° (iv) & =&/ None of these
95, (—1)50 %1 A &R -

Value of (—1)°° -
@H -1 (ii) 50
(i) -50 (iv) 1

1 a¥/Year - 2019-20




T/ Mathematics Jgfnpt fgd@ a9 /Second Year | SET-D
TR forhed & A (v') 1 g ST - 5x2=10
Marks (v') the correct answer in each of the following -
9.6. (10)° %1 A &R / Value of (10)° -
i o0 (i) 10
(iii) 1 (iv) 100
7. Ax—5=2AxHAA /If x — 5 = 2 then value of x -
i 7 (i) -7
(i) 3 (iv) -3
9.8. o H ®SH &l & / Cube has faces -
(i) 4 (i) 6
(i) 8 (iv) 12
9.9. 3x+ 43 2x + 5 FAEERT / Sum of the 3x + 4 and 2x + 5 is -
(i) 5x+4 (i) 5x+5
(i) 9x +5 (i) 5x + 9
9.10. 150 T 10% &FT /10% of 150 is -
G 10 (i) 15
(iii) 25 (iv) 50
=k T ¥ 9fd FRTT /Fill in the blanks - 10x 2 =20

9.11. 9911 RATT

ceee

Perimeter of square .............

912. 81 RIHAWENT ............. |

9.13. A FETRS .............

914, A x = 48, d92x + 5 FIAFENT ..........
If x = 4 then value of 2x + 5 s .............

9.15. (4)3 FMAFERT .............
Value of (4)3is .............
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50
9.16. £l R THEHAd HA ER ...

3, 4 -
917. —+ - RAFEEET=............
43 5,

Valuveof—+— = .............
4 3
9.18. 20+ SO M AFERT = ...
Valueof 2° +5%=............

9.19. AABCHIAR 2 A =30°TA 2B = 100° &, i 2 C FTAF &N . ...,

InAABC, If A =30%°and 2 B = 100° then value of 2 C ..i.........

9.20. e & HI0T HELE & ol S A FI W ............ &)

If two angle are supplementary then the sum of their measures is .............

fiT FIRTT / Match the following - 5x2=10

9.21. %% H 209 &/ Vertices in cone (@) 16
9.22. 9 &1 A/ Diameter of circle (b) 03
9.23. 256 H WHS &/ Squre root of 256 (c) 360°
9.24. H‘Tﬁ 10T F1 {19/ Measure of complete angle  (d) 2 x &=
9.25. ISl & IR 9 RIS & SRR/
Types of triangle on‘the basis of sides (e) 01
T / 36 fSRaT, /Write true (T) / false (F) - 5x2=10

9.26. <SG % =W HI0 H AT 360° ST B /

Sum of 4 angles of a quadrilateral is 360° .

9.27. 2*x23=2!

9.28. &l GHEAIU BRI § O 101 900 1 &l 2|
All right triangles have one angle of 90°.
9.29. PR &1 &6 = SEE x e
Area of triangle =L x B

9.30. (53)* =512
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fel Y ST 9 / Very short answer type questions - 5x2=10

9.31.

9.32.

9.33.

9.34.

9.35.

&9 400 FT 25% TRd=T &FT /Find the 25% of Rs. 400.

qfda = 1 dAb = 2 B dl 2a + b F A 1 HITT |
If a=1and b = 2 then find the value of 2a + b.

I % YA 1 G fSRaT) /Write the formula of perimeter of rectangle.

100 =t Elﬁ'ﬂ\?& Fd HII/ Find square root of 100.

gl 5x — 4 = 7 & 4l x FT HE A R |
If 5x — 4 = 7 then find the value of x.

4 a¥/Year - 2019-20




7T /Mathematics W‘ﬂ e a /Second Year SET-D

&g I 9 /Short answer type questions - 5x3=15
U.36. &3 &MY /Solveit- (8x+7) — (3x —5)

9.37. 6251 aﬁq\a S FIMY / Find the square root of 625

9.38. RIS ABCD H 4 24 = 50°, 2B = 70°, 2C = 100° &4l 2D & gd HI
In quadrilateral ABCD, if A = 50°, 2B = 70°, 2C = 100° then find the

measure of 2D

9.39. [2° 4 3° 4 4°]2 %1 9| Fd HINT /Find the value of [2° 4 3° + 4°]2 .

9.40. e FREl &9 &1 g Sem 81 Al SERT G JTd Tl
Find the area of square whose side is 5cm.
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é\ﬁ ST A / Long answer type questions -

2x10=20

941. AABCH £C @HFIIZ| MG BC = 6 G¥ a1 AC = 8 &l &1 Al AB 1 A4
A HINC /In A ABC, £C is right angle. If BC = 6 cm and AC = 8 cm then

find the length of AB

9.42. (i) HEIA HINT / Find the value -

B +6 +@)

(i) I E FIY / Find the sum -
(5x + 4y —3) @A (3x + 2y + 4)
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